50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs.
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Note: Answer any FIVE full questions, choosmgﬁ 0
Modﬁi&f

a. Briefly discuss the three main graph se%%?dechmques with the helpof neat diagram.
Ve

b, Y & (10 Marks)

b. Write an algorithm to explain Line Sweep Method. (06 Marks)
& OR L
a. Briefly explain the algorlthfn d for NP Hard probleme» (08 Marks)
b. Writ an algorithm to expih%’“MAXCUT %%v (08 Marks)
i% 7 Module-2 *"W
a. Explain in brief, tﬂé@afomlc operations for layouf;” editors. (10 Marks)
b. Briefly explam“tﬁ‘gérelatlonshlp between di fq%ent graph classes of physical design. (06 Marks)
Al )’
b @OR

a. What is ?Discuss with examples (10 Marks)
b. Menho“n thé limitations of ex1st@%&ta structures. (06 Marks)

'w

P Module-3

a. Define the following cosxffunctlons , :
(i) Min cut cost  (ii)’] f@mal cost  (iii) ﬁgnternal cost (1v) Differential cost. Present
generic code for Kernighan — Lin (K- L) p’?i‘mi‘%nmg algorlthm (10 Marks)

b. Define Rectang lar Dtalization and’ explalﬁrl'f’e same with theéhelp of an example. (06 Marks)

(N Mgk W?
a. Explain the cjas?‘ﬁcatlon of partlttgi%”élgorlthm a8 ’ (06 Marks) -
b. Explalnx Ngns@”ﬁframt based ﬂoor%zgmng method. > (10 Marks)
» N ")
¢ Module—4
a, nment metho ﬁ,, (10 Marks)
‘How are pin asmgnmexgge%hmques clasgff % 2 Explain. (06 Marks)
4 % )
w ~ 40R
a. Discuss Varl%%@g bjective functloﬁé»%?nd placement procedure in Breuer’s Algorithm.
(10 Marks)
b. Briefly expl‘?inwdemgn style spemﬁé pin assxgnment problems. (06 Marks)
A~ Module-5
a. Discuss the graph mode@hat are used for global routing. (10 Marks)
b. Briefly explain the classification of Two-layer algorithm in channel routing. (06 Marks)
CoY OR
a. Explain the parameters to be considered in detailed routing. (10 Marks)
b. Write the gereric code for line probe Algorithm. - (06 Marks)
F 9 ;
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